Diferencni rovnice

Najdéte vSechna teseni diferen¢nich rovnic (s poc¢ateénimi podminkami).
1) y(n+2)+4y(n+1) +4y(n) = 0

(

(2) y(n+2) —3y(n+1)+ 2y( )=

(3) y(n+2)—2y(N+ 1) — (n)=0 y(1) =2,y(2) =1

(4) y(n+2) —y(n+1)—y(n) =0,y(1) =y(2) =1

(5) y(n+4)+6y(n+2)+9y(n) =0

(6) y(n+2) —2y(n+1)+2y(n) =cos 5n

(7) yin+3) —y(n+2) —2y(n+1) +2y(n) =n+ 2"

(8) 8y(n+3)+y(n)=3n+1/2"

(9) y(n+2) —3y(n+1) +2y(n) = n?, y(1) = 3, y(2) = 2.
(10) y(n+2) —y(n) =17, y(1) = y(2) = 0.

Vysledky

1. y(n) = c1(=2)" + can(—2)", c1,c2 € R
2.y(n) =c1 + 22", 1,02 € R

3.y(n) =3 (~1)" +1-3",
o =35 (M) - (57)

1(V/3)" cos Zn + c2(v/3)" sin Zn + c3n(v/3)™ cos Zn + c4n(v/3)" sin In

Il
o

5. y(n)

6. y(n) = £ cos In — Zsin In + c1(vV2)" cos Tn + c2(v/2)" sin In
7.y(n) = —in? = 3n+ 2771 + 1 (V2)" + c2(—V2)" + ¢3

8. y(n) = kn— § + 327+ ea(—1)" + ex(3)" cos(§n) + ex(4) sin(3n)
9.y(n) =—3n*—in? - LBpn4145.2771

10. y(n) = HEn+ 3 + B(-1)"



